200 — a9 +4r3+ 14 =1
3x1 + 209 — 3x3 + 224 = 2
—0x1 +3x9 — x3+ x4 =1



200 — a9 +4r3+ 14 =1 200 — a9 +4x3+ 24 =1
3r1 + 219 — 33 + 204 = 2 <~ 6xy + 4x9y — 623 + 4oy = 4 <—
—0x1 +3x9 — x3+ x4 =1 —1027 + 629 — 223 + 224 = 2



200 — w9 +4x3+ 14 =1 200 — a9 +4x3+ 14 =1
311 + 209 — 3x3 4+ 214 = 2 <~ 6x1 + 4y — 623 + 4oy =4 <~
—dx1 +3x9 — X3+ x4 =1 —10x1 + 629 — 223 + 224 = 2

200 — 19 + 4daxs+ x4 =1
<:>” Txy — 1823+ x4y =1 <—
To + 18x3 + Tay =7



200 — w9 +4x3+ 14 =1 200 — To +4x3+ x4 =1

311 + 209 — 3x3 4+ 214 = 2 <~ 6x1 + 4y — 623 + 4oy =4 <~
—or] + 319 — 23+ x4=1 —10x1 + 629 — 223 + 224 = 2
200 — 19 + 4daxs+ x4 =1 200 — T9 + 4dxs+ x4 =1
<:>n Txy — 18x3 + x4 =1 <:>@ To + 18x3 + Ty =7

To + 18x3 + Tay =7 | Txyg — 18x3 + x4 =1



200 — w9 +4x3+ 14 =1 200 — To +4x3+ x4 =1

311 + 209 — 3x3 4+ 214 = 2 <~ 6x1 + 4y — 623 + 4oy =4 <~
—dx1 +3x9 — X3+ x4 =1 —10x1 + 629 — 223 + 224 = 2
200 — 19 + 4daxs+ x4 =1 200 — T9 + 4dxs+ x4 =1
<:>n Txy — 18x3 + x4 =1 <:>@ To + 18x3 + Tay =7 <
To + 18x3 + Txy =7 ! Txyg — 18x3 + x4 =1
200 — 19 +  4dxs + x4 = 1
— To + 18x3 + Ty = 7

) 144z — 48z = —48



200 — w9 +4x3+ 14 =1 200 — To +4x3+ x4 =1

311 + 209 — 3x3 4+ 214 = 2 <~ 6x1 + 4y — 623 + 4oy =4 <~
—dx1 +3x9 — X3+ x4 =1 —10x1 + 629 — 223 + 224 = 2
200 — 19 + 4daxs+ x4 =1 200 — T9 + 4dxs+ x4 =1

<:>n Txy — 18x3 + x4 =1 <:>@ To + 18x3 + Tay =7 <
To + 18x3 + Tay =7 | Txyg — 18x3 + x4 =1
200 — 19 +  4dxs + x4 = 1 200 — X9 + 4dx3+ x4 =1
— To + 18x3 + Ty = 7 = T9 + 18x3 + Txy =7

@) — 44y — 481, = —48 |



200 — To + 4dx3+ x4 =1
372—|—18373—|—7334=7
3ry + x4 =1



200 — o+ 4dx3+ x4 =1
To + 18x3 + Ty =7 —> <
3r3 + x4 =1




/

(1 + x9 — 4a3 —334)
To =17 —18x3 — Txy

DO —

200 — o+ 4dx3+ x4 =1 =

To + 1823 4+ 7oy =7 —> <

3r3 + x4 =1 =

\334:1—33;’3



( 1
— 11 A —
200 — o+ 4dx3+ x4 =1 e 2( 2 3 334)

To + 1823 4+ 7oy =7 —> <

3r3 + x4 =1

To =17 —18x3 — Txy
Qj’gzt

\334:1—33;’3



( 1
— 11 A —
200 — o+ 4dx3+ x4 =1 e 2( 2 3 334)

To + 1823 4+ 7oy =7 —> <

3r3 + x4 =1

To =17 —18x3 — Txy
Qj’gzt
\334:1—315




331:%(14—332—4333—334)
o =7 — 18t — 7(1 — 3t)
Qj’gzt

334:1—3t

200 — o+ 4dx3+ x4 =1
To + 1823 4+ 7oy =7 —> <
3r3 + x4 =1




200 — o+ 4dx3+ x4 =1
To + 1823 4+ 7oy =7 —> <
3r3 + x4 =1




200 — o+ 4dx3+ x4 =1
332+18333+7334:7:><
3r3 + x4 =1

= 5(1+3t —
3t
t

OJ l\:J »—t
I

4=1—3t

— (1 —3t))



200 — o + 4dx3+ x4 =1
To + 1823 4+ Ty =7 —> <
3r3 + x4 =1

Tl =
372:3t
r3 =
$4:1—3t



